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ENRICHMENT ACTIV Iy

A, Write © for lim and LS for line segment. Also write their names.

; / !-“L M\ : R S -
o e - 4’—_‘_’_'_'——-’

L % N i

B; Write P for parallel lines and 1 for intersecting lines.

b

L = F : E S A
%P > o

CHECKPOINT |

P i

Ray
A ray is a part of a line. A ray begins at a point and goes on endlessly in the other
direction. The direction is indicated by an arrowhead. [t has no fixed length.

A ray is named by two points on it. The symbol for a ray is —.

ﬁ
This is the ray RS. It is written as RS.

R is the starting point. l={ g >
m ray goes on and on in the direction of S.
, @ is different from SR Do you know why?
™ ENRICHMENT ACTIVITY
jrr»wheads and points to convert it to a /" My rays go
: : w‘_ssfy.
2. line segment 3. ray

One Two Many
ough two points: One M Two Many
ugh two points: One  Two Many
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